N of simulated tracks vs transverse vert position

TrackingParticles

Ratio

10°

10*

10°

10?

0.95

.................................. e

| N of associated tracks (simToReco) vs transverse vert position

Reconstructed TPs

10*

10°

TTTTT
+*

10

| N of simulated tracks vs z vert position

TrackingParticles

10*

10?

10

=

Ol(\
1072

10 1 10 10?
TP vertr (cm)

| N of associated tracks (simToReco) vs z vert position |

Reconstructed TPs

Ratio

10*

10?

10

T t

0.95

0.9

=
T T T

-
PR

=30

10 20 30
TP vert z (cm)

0 -10 0

Rati

0.9

0.95f ++xxennnes - TR -~
107

10 10°
TP vertr (cm)

N of simulated tracks vs.simPVz |

TrackingParticles

Ratio

10*

10°

10?

T
B

10

05 10 15 20
TP Sim. PV z (cm)

Rati

0.95

0.9

=30

1020 30
TP vert z (cm)

=20 -10 0

| N of associated tracks (simToReco) vs. sim PV z |

Reconstructed TPs

Ratio

10?

10

feehaaa U - R . I
H R R H
. . . - . .
H e H
H - - H
. . - .
feehaaa P g deeean I
H . -
PR .
H - .
F— .
bod -

0.95F-

0.9,

50 =15 —10 -5

05 10 15 20
TP Sim. PV z (cm)



	Contents
	Page 1


